Telecentric Lens sz sl

TPL & TVL Series

IR iRk

o SEEEZZTRAFHEMO.5x ~10.0x . WD40mm ~ 340mm
FEE R

o MRELEARERRS T RKESHE

bimliRsk

AEAESHELAD A TITRIFRESRMEE. ERTEEMMFNRTIE, EBENE.
WRBIRREA/N, FZ TIRIERRISNT

—fRiRsk Bfg iz RSk

.l

DR RS

EIVE, RBUERRERETIRAIIRN, HhERBTRIGRIMAISR RIBIAEMA—AER. WAL ESS HEIG R B S EE.
GRBTRITNT, ARFNANSAFRIOERT, GEOMESEN. BMEENBAERESRD, NTRLEBERIGRRATE,
HERTEES5RL.

B—H, GRETRIPOXNAE, EHEMEEIIMERINACSRRY, WIEEMARLAERE.

X, BAERE EREATOARRY, EELEEREMENEY. [GRETRISEART] HXmMER, KEEEE ARk,

BITRT j
TVT/VM
2u 250Lp/mm
3u e 0 ) 166Lp/mm
[ I ) °
4u 125Lp/mm
T™L/ TML/TFL/TEF ° TLL
5u®  TCL/ 100Lp/mm
TET °
6u 83Lp/mm
7u- TPI® 71Lp/mm
TVL
mERY 6mm 8mm 9mm 11Tmm 16mm 22mm 30mm
173" 1/211.8" 2/3" 1”1 4/3" 1.76"
® VGA 1-3M 4-6M ® oML E ® 20MLL E

FOEIT O ERTITIEIE kRS-

BAYRITOEL (FREEF 0-56x~6% T{EEE: 65mm/110mme
PR OEL ; NHEEEERMIEHNERT.

SR FEIm OGSk s TR RIER 1S R ETEE .
IFRL1.67umIRTTHIE 53k ; BRIV R B LRGSR,
mOEREESL; EMERELRASRE . SNA,

A E RSk o

IFRLA " A I A Sk .

ZmbEk-e

HOURS '

PEEE————
www.hours-web.com



Telecentric Lens

TPL Series

TPL Series

BWD:65mm
662 (WD) 80 17.526, 65. 92 (WD) 89 17.526,
6.5/4 6.54
3-M3 Set screw 3-M3 Set screw
=5 %
54 N P I PN | N I 54 =2 - - ! N — &
© S © ©
© ~ ~
© C-mount G- t
163.5(0/D) - 172.4(0/) e
68.9:£2. 1(ID) 56.2 17.526 65. 42 (WD) 68.6 17.526
6.54 6.54
3-M3 Set screw — 3-M3 Set screw -
T °F
© = -3 =23
S 41— °im 1 8 S 11— i1 g
~ <
G-mount [ t
142.6(0/1) 151.50/1) ot
TPL4-65 TPL08-65CO 66:£2 (D) 80 17.526
6.5/4
64.52 (WD) 68.4 17.526 § M
6.5/4 o
o =3
3-M3 Set screw - g — i t—— _l_ =44 7*4{ g
°9 i
= I o) 3
2R N PRRE
1
t
S M3 Set screw 8 C-mount
150. 4 (0/1) $14.2 3-M3 [Set screw
36.7 16
163.5(0/1)
65. 92 (WD) 89 17.526 68.92. 1 (WD) 56.2 17.526,
6.5/4 6.54
3-M3 Set screw — 33 Set screw =
= °%
oz 2 ° e _l_ —let—- &
by T -~ - - PN - ©
%ﬁ T T 1
? = o) :ﬁ : *
= ~Lr | Ly i
| iy ! C-mount
f C-mount ! g
M3 Set screw ®8 M3 Set screw ]
$14.2 $14.2
37 ¢ 16 19.2 16
172.4(0/1) 142.6(0/1)
65. 42 (WD) 68.6 17. 526, 64. 52 (WD) 68.4 17. 526,
6.54 6.54
3-M3 Set screw - 3-M3 Set screw
9 9 b
=3 = © =
= N _ - I = - il ) O | I i
| _l_ R < <
- T
= N o ~
3 I
0 C-mount
T C-mount
M3 Set screw $8 M3 Set screw $8
914.2 914.2
19.2 ¢16 19.4 16
161.5(0/1) 150.4(0/D)
TPL08-65 TPL1-65 TPL1.5-65 TPL2-65 TPL4-65 TPL08-65CO  TPL1-65CO TPL1.5-65CO  TPL2-65CO TPL4-65CO
plAca-ES 0.8x * 5% 1.0x + 5% 1.5x + 5% 2.0x + 5% 4.0x * 5% 0.8x = 5% 1.0x * 5% 1.5x + 5% 2.0x * 5% 4.0x * 5%
2/3" — = - = 1.35x1.78 = — = - 1.35x 1.78
0 1/1.8" 6.6 x 8.8 5.28 x 7.04 2.64 x 3.52 2.64 x 3.52 1.78 x 2.10 6.6 x 8.8 5.28 x 7.04 2.64 x 3.52 2.64 x 3.52 1.78 x 2.10
172" 6.0x8.0 4.8 x6.4 3.2x4.3 24x3.2 1.2x1.6 6.0 x 8.0 4.8 x 6.4 3.2x4.3 2.4 x3.2 1.2x1.6
1/3" 4.5 % 6.0 3.6x4.8 2.4x3.2 1.8x24 0.9x 1.2 4.5 x 6.0 3.6x4.8 2.4x3.2 1.8x2.4 09x1.2
WD 66.0mm +2 65.9mm *2 68.9mm +2.1 65.4mm +2 64.5mm +2 66.0mm +2 65.9mm +2 68.9mm *2.1 65.4mm +2 64.5mm +2
PRIEE 163.5 172.4 142.6 151.5 150.4 163.5 172.4 142.6 151.5 150.4
ST 9.6 12.1 25 25 28.9 9.6 12.1 25 25 28.9
NA 0.042 0.041 0.030 0.040 0.069 0.042 0.041 0.030 0.040 0.069
KR 1.2 1.0 0.9 0.5 0.1 1.2 1.0 0.9 0.5 0.1
WES-S -0.01% 0.01% 0.008% -0.010% 0.014% -0.01% 0.01% 0.008% -0.01% 0.014%
A 1/1.8" 1/1.8" 1/1.8" 1/1.8" 2/3" 1/1.8" 1/1.8" 1/1.8" 1/1.8" 2/3"
[El4hEREATS = — — — = - Built-in Built-in Built-in Built-in Built-in
=8 42 39 33 37 35 47 44 39 42

32

HOURS

www.hours-web.com



BWD: 110 -120 mm

TPL08-120

121.9=3. 7 (WD)

Telecentric Lens

TPL Series

TPL1-11

72.4 17.526 113.0=3. 4 (WD) 79.5 17.526_
6.5/4 6.5/4
1.1 3-M3 [Set screw
3-M3 Set screw /
) = ~ ’
7 4 F 4 .
d +————tei - g d i s
G-mount C-mount
211.8(0/D 210.0(0/T)
TPL 110 TPL2-110
115,03, 5 (WD) 71.5 17.526 110. 53, 3 (WD) 93 17.526
6.5/4 6.5/4
3-M3 Set screw 3-M3 Set screw
o 3 -
o = — o~
S —T—+ R T Tt 3
C-mount C-mount
210.0(0/D) 221.0(0/1)
TPL08-120CO TPL1-110CO
121.9£3. 7 (WD) 72.4 17.526_ 113.0=3. 4 (WD) 79.5 17. 526,
6.514 6.5,4
3-M3 Set screw 1.1 3-M3 Set screw
< =
© el = =3 (=23
S T e S 8 S T 1Tt 2
| = o S
< % C-mount < -}k C-mount
L M3 Set screw i M3 Set screw
8 +
914.2 ’ 084%
) $14.2
42 @16
42 16
211.8(0/D
210.0(0/1)
115. 0=£3. 5 (WD) 71.5 17.526_ 110.53. 3 (WD) 93 17. 526,
6.5/4 6.5/4
3-M3 Set screw 3-M3 Set screw
= 3 2
=3 =3
S T ¢ T -1 s S e et 2
) I o) =
< T < T
7 . M3 Set screw C-mount ! M3 Set screw | G-mount
|
I #8790 #8740
914.2 914.2
30.5 $16 30.5 16
210.0(0/1) 221.0(0/1)
TPL08-120 TPL1-110 TPL1.5-110 TPL2-110 TPL1-110CO TPL1.5-110CO TPL2-110CO
plac g 0.8x = 5% 1.0x + 5% 1.5x + 5% 2.0x * 5% 0.8x = 5% 1.0x = 5% 15x = 5% 2.0x *+ 5%
1/1.8" — 2.64 x 3.52 3.52 x 4.69 2.64 x 3.52 — 2.64 x 3.52 3.52 x 4.69 2.64 x 3.52
M 1/2" 6.0 x 8.0 4.8x6.4 3.2x4.3 2.4x3.2 6.0x8.0 4.8x6.4 3.2x4.3 2.4x3.2
1/3" 4.5x 6.0 3.6x4.8 2.4x3.2 1.8x 2.4 4.5x6.0 3.6x4.8 2.4%x3.2 1.8x2.4
wo 121.9+3.7 113.0+3.4 115.0+3.5 110.5%+3.3 121.9+3.7 113.0+3.4 1156.0=3.5 110.5+3.3
RIEE R 211.8 210 210 221 211.8 210 210 221
SEHF 17.5 22.7 18.7 24.9 17.5 22.7 18.7 24.9
NA 0.023 0.022 0.040 0.040 0.023 0.022 0.040 0.040
R 2.2 1.8 0.7 0.5 2.2 1.8 0.7 0.5
WES-S 0.017% 0.002% 0.004% -0.002% 0.017% 0.002% 0.004% -0.002%
ATH 1/2" 1/1.8" 1/1.8" 1/1.8" 1/2" 1/1.8" 1/1.8" 1/1.8"
[E4mERRATS - - - — Built-in Built-in Built-in Built-in
B 36 37 34 37 42 42 39 42

HOURS

www.hours-web.com

33



ens TVL Series
TVL Series

BWD:40mm

39. 341 (WD) 57 17.526, 39. 51 (WD) 39 17,526, 37.21(WD) 53.2 17. 526,
6.504 6.5/4 6.5/4
3-M3 Set screw 3-W3 Set screw 3-M3 Set screw
3 -3 E o5
e — R g — g I
L L —~
C-mount C-mount G-mount
113.8(0/1) 96.0(0/1) 107.9(0/T)
39. 61 (WD) 45.9 17. 526, 39-+1(WD) 60.7 17.526, 38. 71 (WD) 75.3 17.526,
6.5/4 6.5/4 6.5/4
3-M3 Set screw 3-M3 Set screw 3-M3 Bet screw
F Tl ; z
© b= © - © —
S i i e v A I e e
A L =
G-mount C-mount C-mount
103.000/1) 117.2(0/1) 131.5(0 1)
39,31 (WD) 57 17,526, 39,51 (WD) 39 17,526 37.21(WD) 53.2 17,526,
6.5/4 6.5/4 6.5/4
3-M3| Set screw 3-M3| Set screw 3-M3| Set_screw
o5 o5 5
© = ° = P =
" (R T - I
i I i i B
o e : o | ; | SR E =
0 Cmount | Lovount N C-mount
f N3 Set screw T N3 Set screw | M3 Set screw
40,02 +0.02 40,02
68’8 48'% 8’}
14.2 $14.2 14.2
21.9 16 129 | @16 12.9 |_¢16
113.8(0/1) 96.0(0:1) 107.9(0/1)
39. 61 (WD) 45,9 17,526, 39.0=1 (WD) 60,7 17,526, 38,71 (WD) 75.3 17,526,
6.5/4 6.5/4 6.5[4
3-M3| Set screw 3-43| Set screw 3-M3| Set screw
3 3 3
e | | Al 1 = e | [ O © I I S Y | S
s e S S| | | hd | s ,7 S
i I i I
I~| R I~| AN ~| R
i 13 Set sorow | G-mount W3 Set sorew i M3 Set screw C-mount
s 3‘8' 02 @ 3‘8' 02 @ 8'8.02
C-mount
¢14.2 $14.2 $14.2
12,9 |_&16 12,9 | 016 129 |_ o016
103.0(0/1) 117.2(0/1) 131.5(0/1)
M TVL1.5-40 TVL2-40 TVL3-40 TVL4-40 TVL6-40 TVL8-40
S ER 1.5x +5% 2.0x 5% 3.0x +5% 4.0x +5% 6.0x +5% 8.0x =5 %
N 2/3" - = _ = — —
(Ifo) 1/2" 3.2 x 4.3 mm 2.4 x3.2mm 1.6 x 2.1 mm 1.2x 1.6 mm 0.8x 1.1 mm 0.6 x 0.8 mm
1/3" 2.4%3.2mm 1.8 x 2.4 mm 1.2 x 1.6 mm 0.9 x 1.2 mm 0.6 x 0.8 mm 0.5 x 0.6 mm
WD 39.3mm *£1 39.5 mm 1 37.2mm _*1 39.6 mm *1 39.0mm *£1 38.7mm %1
WigEES 113.8 mm 96.0 mm 107.9 mm 103.0 mm 117.2 mm 131.56 mm
SERF 11.2 15.0 23.5 29.4 43.3 57.0
NA 0.067 0.067 0.064 0.068 0.069 0.070
27 AFHEEEC004mm 0.4 mm 0.3 mm 0.2 mm 0.1 mm 0.1 mm 0.07 mm
TVEE 0.00 % 0.00 % 0.00 % 0.00 % 0.00 % 0.00 %
Az (Y=4) 69 % 84 % 100 % 100 % 100 % 100 %
EATH 1/2" 1/2" 1/2" 1/2" 1/2" 1/2"
RHERBE - = - - - =
Es 37g 30g 33g 31g 36g 39g
& TVL1.5-40CO TVL2-40CO TVL3-40CO TVL4-40CO TVL6-40CO TVL8-40CO
HeEER 1.5x ¥5% 2.0x 5% 3.0x £5% 4.0x £5% 6.0x 5% 8.0x £5%
MEF 28" — = — = = =
(VxH) 112" 3.2x4.3mm 2.4x3.2mm 1.6x2.1Tmm 1.2x 1.6 mm 0.8x 1.1 mm 0.6 x 0.8 mm
13" 2.4x3.2mm 1.8 x 2.4 mm 1.2x 1.6 mm 0.9x1.2mm 0.6 x 0.8 mm 0.5 x 0.6 mm
WD 39.3mm 1 39.5 mm 1 37.2mm 1 39.6 mm 1 39.0mm %1 38.7mm 1
YR EREE 113.8 mm 96.0 mm 107.9 mm 103.0 mm 117.2 mm 131.5 mm
SLHF 11.2 15.0 23.5 29.4 43.3 57.0
NA 0.067 0.067 0.064 0.068 0.069 0.070
SiF AFEEEC004MM 0.4 mm 0.3 mm 0.2 mm 0.1 mm 0.1 mm 0.07 mm
TV4HE 0.00 % 0.00 % 0.00 % 0.00 % 0.00 % 0.00 %
BinRE (Y=4) 69 % 84 % 100 % 100 % 100 % 100 %
SEBASH 172" 1/2" 172" 1/2" 1/2" 1/2"
EEERE A = Built-in Built-in Built-in Built-in Built-in Built-in
58 4249 35¢g 39¢g 38¢g 429 459

34

E————
www.hours-web.com



TVL Series

BWD:65-70mm

1-65

08-65 T

65. 42 (HD) 99.6 17.526, 65.9=2 (D) 9.4 17.526 69. 52 (D) 63 17.526,
50.5 42.6 6.54 6.54 6.5/4
33| Set screw 3-M3| Set screw 3-M3| Set screw
- - _ r
e =7 =7
(s T T T T
= U U -
o
S C-mount. C-mount C-mount
182.5(0/1) 178.8(0/1) 150.0(0/1)
6. 7::2 (D) 63.5 17,526, 65. 322 (WD) 50,3 17.526, 64,522 (D) 68,0 17.526,
6.54 6.54 6.54
3-M3| Set screw 3-M3| Set screw 3-M3| Set screw
< B =
{ = ==l { ==t
G=mount C-mount.
147.70 1) 142,10, 150.0(0/1)
64.5:2 (D) 73.3 17.526, 64.3=2 (D) 80.7 17.526, 64.0-2 (WD) 95.5 17.526,
6.54 6.54 6.54
3-M3| Set screw 3-M3| Set screw 3-M3| Set screw
o5 o3 o3
© 5 < 5 F=1 I R I ) A _ 5
{ =y 1Ry 1 EEEE B
L L -
C-mount C-mount C-mount
155.3(0/1) 162.5(0/1) 177.0(0/1)
-65 g TVL08-65 TVL1-65
FFEE 0.8x *+5% 1.0x +5% 1.5x 5%
nEF 2/3" - - 4.7 x 5.6 mm
64.8:2 (WD) 110.4 17,526, (VxH) 172" 6.0 x 8.0 mm 4.8 x 6.4 mm 3.2x4.3mm
1/3" 4.5 x 6.0 mm 3.6 x 4.8 mm 2.4x3.2mm
f5 WD 65.4 mm *+2 65.9 mm *2 69.56 mm *2
3-M3| Set screw N
WiREER 182.5 mm 178.8 mm 150.0 mm
SEHF 10.0 14.2 15.6
= NA 0.040 0.035 0.048
I A N ) ] s SR SYFHEEC00IM 1.3 mm 1.1 mm 0.6mm
N < TVAE 0.05 % 0.10% 0.10%
U Binyes (Y=4) 100 % 90 % 90 %
EEGH 1/2" 1/2" 2/3"
ot EHERRAT = — = -
192.7(0/1) 55 729 48¢g 37g

TVL6-65 TVL10-65
S ER 2.0x =5 % 3.0x *5% 4.0x +5% 5.0x =5 % 6.0x 5% 8.0x +5% 10.0x £5 %
e 2/3" 3.6 x 4.2 mm 2.4 x 2.8 mm 1.8x 2.1 mm 1.4 x 1.7 mm 1.2 x 1.4 mm 0.9x 1.1 mm 0.7 x 0.8 mm
(VxH) 172" 2.4x 3.2 mm 1.6 X 2.1 mm 1.2x 1.6 mm 1.0 x 1.3 mm 0.8 x 1.1 mm 0.6 x 0.8 mm 0.5 x 0.6 mm
173" 1.8 x 2.4 mm 1.2x1.6 mm 0.9x1.2mm 0.7 x 1.0 mm 0.6 x 0.8 mm 0.5 x 0.6 mm 0.4 x 0.5 mm
WD 66.7 mm +2 65.3mm *2 64.5 mm *2 64.5 mm £2 64.3mm *2 64.0 mm £2 64.8 mm £2
WREEE 147.7 mm 142.1 mm 150.0 mm 155.3 mm 162.5 mm 177.0 mm 192,7 mm
SEMF 15.6 22.0 29.1 36.2 43.1 57.1 73.2
NA 0.064 0.068 0.069 0.069 0.070 0.070 0.068
SR AFEEE0.04mm 0.3 mm 0.2 mm 0.1 mm 0.1 mm 0.1 mm 0.07 mm 0.06 mm
TVEE 0.04 % 0.04 % -0.01 % 0.00 % 0.00 % 0.00 % 0.00 %
Bix= (Y=4) 90 % 98 % 100 % 100 % 100 % 100 % 100 %
SEATH 2/3" 2/3" 2/3" 2/3" 2/3" 2/3" 2/3"
CEEE e = = - = - = -
B 40g 38g 38g 419 43g 489 54 g

HOURS %

www.hours-web.com



Telecentric Lens

TVL Series

08-65CO

65. 42 (WD) 99.6

17.526,

65CO

65. 92 (WD) 95.4 17.526 69. 52 (WD) 63 17.526,
50.5 42.6 6.5/4 6.5/4 6.5[4
3-M3| Set scriew 3-M3| Set screw 3-M3| Set screw
=
o
7 = 7 | 3
T e T e TR -
A——F A& A F
R ~| 2 ~| i
757 i C-mount 7 77%7 ] i 1*7 C=mount
M3 Set screw : — | M3 Set screw C-mount | M3 Set screw T
084" 084 28'4%
¢14.2 14.2 14.2
55.5 ®16 22.5 616 25.1 316
182.5(0/1) 178.8(0/1) 150.0(0/1)
66. 72 (WD) 63.5 17, 526, 65. 3222 (WD) 59.3 17. 526, 64, 52 (WD) 68 17. 526,
6.5/4 6.5/4 6.54
3-M3| Set screw _3-M3| Set screw 3-M3| Set screw
7 d - P | - I .
ClE S iy i o o i iy [l < e s
f B B B
N irv - o ,,ﬁ, g N i g_ 2
i ] ]
\ T \ T {71 \8 set sorew pmount
688" 085” 68"
14.2 $14.2 14.2
227 616 23.3 616 23.3 616
147.7(0/1) 142.1(0/1) 150.0(0/1)
64. 52 (WD) 73.3 17. 526, 64. 3+2 (WD) 80.7 17. 526, 64. 0+2 (WD) 95.5 17. 526,
6.5/4 6.5/4 6.5/4
3-M3| Set_screw 3-M3| Set_screw 3-M3| Set_screw
3 i 3 1l 4 i
9| [ 77"‘7’ B ’4{ g < I ""7’ D - 3 9 1 ;’,7’ I T 3
L ica - L i
! ! ! C-mount
i M3 Set screw { C-nount i M3 Set screw feomount | N M3 Set screw .
s 318. 02 @ 8'3’ 02 @ 3'8' 02
$14.2 $14.2 @14.2
23.3 ¢16 23.3 16 23.3 $16
155.3(0/1) 162.5(0:1) 177.0(0: 1)
64, 82 (WD) 110.4 17,526, & TVL08-65CO TVL1-65CO TVL1.5-70CO
6.504 pucaliES 0.8x *5% 1.0x £5% 1.56x +5%
3-M3| Set screw nes 2/3" —_ —_ 4,7 x 5,6 mm
(VxH) 1/2" 6.0 x 8.0 mm 4.8 x 6.4 mm 3.2x4.3mm
_ 1/3" 4.5 x 6.0 mm 3.6 x 4.8 mm 2.4 x3.2 mm
o7 _ WD 65.4 mm 2 65.9 mm *2 69.5 mm *2
S| I B I - ] ps WREIER 182.5 mm 178.8 mm 150.0 mm
a1 F SEHF 10.0 14,2 15.6
= el S NA 0.040 0.035 0.048
] o-mount RIR AHEEECOMM 1.3 mm 1.1mm 0.6 mm
| M3 Set screw TVEE o o o
5800 VE 0.05 % 0.10 % 0.10%
Binxs (Y=4) 100 % 90 % 90 %
14.2 EEHA 1/2" 1/2" 2/3"
23,3 516 E4hARRES =0 Built-in Built-in Built-in
B8 789 56 g 449
192.7(0/1)
b3k TVL2-65CO TVL3-65CO TVL4-65CO TVL5-65CO TVL6-65CO TVL10-65CO
S fEER 2.0x +5% 3.0x £5% 4.0x £5% 5.0x £5% 6.0x £5% 8.0x £5% 10.0x £5%
N 2/3" 3.6 x 4.2 mm 2.4 x 2.8 mm 1.8x2.1 mm 1.4 x 1.7 mm 1.2x 1.4 mm 0.9 x 1.1 mm 0.7 x 0.8 mm
12" 2.4 x 3.2 mm .6x2.1mm .2x 1.6 mm .0x 1.3mm .8 x 1.1 mm .6 x 0.8 mm .5 x 0.6 mm
(\?‘x;:) 1.6 x2.1 1.2x1.6 1.0x 1.3 0.8x 1.1 0.6 x 0.8 0.5 x 0.6
1/3" 1,8 x 2.4 mm 1.2x 1.6 mm 0.9 x 1.2 mm 0.7 x 1.0 mm 0.6 x 0.8 mm 0.5 x 0.6 mm 0.4 x 0.5 mm
WD 66.7 mm +2 65.3 mm 2 64.5 mm £2 64.5 mm £2 64.3mm +2 64.0 mm £2 64.8 mm £2
YigaEE 147.7. mm 142.1 mm 150.0 mm 155.3 mm 162.5 mm 177.0 mm 192.7 mm
SERF 15.6 22.0 29.1 36.2 43.1 57.1 73.2
NA 0.064 0.068 0.069 0.069 0.070 0.070 0.068
SR AIFEELE®0.04mm 0.3 mm 0.2 mm 0.1 mm 0.1 mm 0.1 mm 0.07 mm 0.06 mm
TVEE 0.04 % 0.04 % -0.01 % 0.00 % 0.00 % 0.00 % 0.00 %
i (Y=5.5) 90 % 98 % 100 % 100 % 100 % 100 % 100 %
EBEGH 2/3" 2/3" 2/3" 2/3" 2/3" 2/3" 2/3"
iR A Built-in Built-in Built-in Built-in Built-in Built-in Built-in
B8 46 g 429 459 479 49g 549 58 g

36

HOURS

www.hours-web.com



Telecentric Lens

TVL Series
BWD:110-170mm

122,53 (D) 1.8 17,526, 113.03 01D) 19.5 17,526, 112, 03 (D) 80.4 17.526_
6.5(4
6.5(4 6.5(4
3-M3| Set screw 3-M3| Set screw 343 Set sorew
- - M -
s [ o] 2 =
2 5 e 5 > — - -—- - - 3
S s 1 S s o | k :
- = ~
C-mount
C-mount C-mount I
211.8(0/1) . 210.000/1) 209.90/D)
110.0:3(4D) 81.2 17,526 e 102.9 11528, 110,03 915 17,526
65l 6.5(4 (WD)
- 33 |Set screw S Set. soren 3-M3 Set screw =0
_ M
— o9 - 1
= _ ) R R _____4___{ 5 o3
- [ CH e e e { [
C-mount Gomount =
{p=mount. ount
214.70/1) 21100 219.0(0/1)
109,53 100.9 17.526_ 11243 114.2 17.526, 112,03 135.1 17.526_
(D) (D) (D)
6.5[4 6.5/4 6.54
3-M3 Set screw 3-M3 Set screw 3-M3 Set screw
7 \ 4 7 g 3 5
e e I e e R B |
Comgunt C-mount C-mpunt
221.9(0/D) 244.10 1) 264.6(0/1)
48 TVL08-120 TVL1-110 TVL1.5-110 TVL2-110 TVL3-110
SERER 0.8x £5% 1.0x £5% 1.5x £5% 2.0x 5% 3.0x £5%
2/3" — — - —_ 2.4 x2.8mm
( glx%:' ) 112" 6.0 x 8.0 mm 4.8 x 6.4 mm 3.2x4.3 mm 2.4x3.2mm 1.6 x 2.1 mm
113" 4.5 x 6.0 mm 3.6 x 4.8 mm 2.4 x 3.2 mm 1.8x2.4 mm 1.2x1.6 mm
WD 1225 mm +3 113.0 mm *3 112.0 mm *3 110.0 mm *3 107.3mm *3
WiGaES 211.8 mm 210.0 mm 209.9 mm 2147 mm 227.7 mm
SEMF 18.0 20.0 18.8 24.9 37.5
NA 0.022 0.025 0.040 0.040 0.040
iR AFEALEP0.04mm 2.3 mm 1.6 mm 0.7 mm 0.5 mm 0.3 mm
TVEE 0.10 % 0.00 % 0.02 % 0.00 % 0.10 %
Bin= (Y=4) 90 % 97 % 91 % 100 % 90 %
FBAGH 1/2" 1/2" 1/2" 1/2" 2/3"
[E4mERRE S X - - - — -
FE 40 g 429 429 469 489
& TVL4-110 TVL5-110 TVL6-110 TVL8-110
HEER 4.0x *5% 5.0x 5% 6.0x *5% 8.0x £5%
2/3" 1.8x2.1 mm - 1.2x 1.4 mm 0.9 x 1.1 mm
(VxH) 172" 1.2x 1.6 mm 1.0x 1.3 mm 0.8x 1.1 mm 0.6 x 0.8 mm
173" 0.9 x 1.2 mm 0.7 x 1.0 mm 0.6 x 0.8 mm 0.5 x 0.6 mm
WD 110.0 mm =+3 109.5mm +3 1124 mm *3 112.0 mm *3
WREIER 219.0 mm 227.9 mm 244.1 mm 264.6 mm
SEHF 4.7 51.8 67.3 89.3
NA 0.048 0.048 0.045 0.045
SRR AFEEEC004mM 0.2 mm 0.2 mm 0.1 mm 0.1 mm
TVEE 0.00 % 0.00 % 0.00 % 0.00 %
N (Y=5.5) 100 % 100 % 100 % 100 %
EEARE 2/3" 172" 2/3" 2/3"
R4HEREE S = - — — —
S 49g 529 549 60 g

HOURS */

E————
www.hours-web.com



Telecentric Lens TVL Series

TVL1-110CO T

122. 53 (WD) 7.8 17.526, 113. 03 (WD) 79.5 17. 526, 112.0£3 (WD) 80.4 17. 526,

6.5/4 6.5/4 6.54
3-M3| Set screw 3-M3| Set screw 3-M3| Set _screw

O
f
i
)
|
31
61681
Il

o T e
I —— g A e i (el
: GG 4§L TLKL
S - .
7 ] %_ —{G-mount R i H N C-mount ] i _1 3 C-mount
f N3 Set screw M3 Set_screw N3 Set screw
¢8‘8. 02 (DS‘E'"Z ¢8‘8' 02
14.2 $14.2 $14.2
4.8 816 42 316 2.1 316
211.8(0/1) 210.0(0/1) 209.9(0/1)
110.0£3 91.5 17.526
110.0:3 (D) 81.2 17.526, 107. 33 (WD) 102.9 17. 526 () 6504
6.514 6.514 3-M3 Set screw
3-M3| Set_screw 3-M3| Set_screw \\
3
. : o s { [BRE
I e e A | | S B 2 al
B i = - ﬁ,,
U - | C-mount
= r %- ot H --%- oot TN M.’!Diet screw
T \MB Set scren i T \M3 Set screw I 8%
6878 #87" 102
214.2] 14.2 3.2 16
38.2 316 42.1 $16 219.00/D)
214.7(0,1) 221.7(0/1)
109. 5(4_'13) 100.9 17,526, 112, 4(iw§) 114.2 17. 526 2. 0(%3) 135.1 17.526,
6.5/4 6.5/4 6.5/4
3-M3 Set screw 33 Set screw 3M3 Set sorew
\
\
o3 5 5
e 1 1 - = £ > e 4 40 I
ol e e L e || G -
i f 4 | i u
i 7717 Corount ] N C-iount ) N C-riount
T \8_Set_screw FTI\M3 Set scren ™ T\ et screw funt
¢B~8.OZ ¢B’8'M ¢8'8.02
14.2 14.2 14.2
38.2 16 38.2 @16 38.2 16
22790 1) 244.1(0/1) 26460/ 1)
& TVL08-120CO TVL1-110CO TVL1.5-110CO TVL2-110CO TVL3-110CO
SeEpfe 0.8x 5% 1.0x £5% 1.5x £5% 2.0x 5% 3.0x +5%
” 2/3" - - - - 2.4x2.8mm
( \}552 ) 12" 6.0 x 8.0 mm 4.8 x 6.4 mm 3.2x4.3 mm 2.4 x3.2 mm 1.6x2.1mm
173" 4.5 x 6.0 mm 3.6 x4.8 mm 2.4x3.2mm 1.8x2.4 mm 1.2x 1.6 mm
WD 1225 mm =*3 113.0mm £3 1120 mm *£3 110.0 mm £3 107.3mm £3
YIREIER 211.8 mm 210.0 mm 209.9 mm 214.7 mm 227.7 mm
ST 18.0 20.0 18.8 24.9 37.5
NA 0.022 0.025 0.040 0.040 0.040
iR ARFEEE®0.04mm 2.3 mm 1.6 mm 0.7 mm 0.5 mm 0.3 mm
TV&HE 0.10 % 0.00 % 0.02 % 0.00 % 0.10 %
Binses (Y=4) 90 % 97 % 91% 100 % 90 %
PE=yan 1/2" 1/2" 1/2" 1/2" 2/3"
EHABE A= Built-in Built-in Built-in Built-in Built-in
52 46 g 48g 49g 52g 569
& TVL4-110CO TVL5-110CO TVL6-110CO TVL8-110CO
SepfeR 4.0x +5% 5.0x +5% 6.0x 5% 8.0x 5%
ey 213" 1.8 x 2.1 mm = 1.2x 1.4 mm 0.9x 1.1 mm
(meH) 1/2" 1.2x 1.6 mm 1.0x 1.3 mm 0.8x 1.1 mm 0.6 x 0.8 mm
1z 0.9x 1.2 mm 0.7 x 1.0 mm 0.6 x 0.8 mm 0.5 x 0.6 mm
WD 110.0 mm *3 109.5 mm *3 1124 mm £3 112.0 mm *3
WRIEIERS 219.0 mm 227.9 mm 244.1 mm 264.6 mm
SEWF 41.7 51.8 67.3 89.3
NA 0.048 0.048 0.045 0.045
FRIR SIHERAC0O4MM 0.2 mm 0.2 mm 0.1 mm 0.1 mm
TV&E 0.00 % 0.00 % 0.00 % 0.00 %
sz (Y=5.5) 100 % 100 % 100 % 100 %
FBAGH 2/3" 1/2" 2/3" 2/3"
[EEEE ) Built-in Built-in Built-in Built-in
FRv 549 589 60g 66 g

38 HOURS

www.hours-web.com



TVL Series

Telecentric Lens

TVL06-170-F15

05-150 06-170

152. 2;[)5) 82 17.526 172.75D), 95.9 17.526, 172. 75 WD) 95,9 17,526
41.3 34.2 6.5(4 55.9 33.5 6.5/4 55.9 33.5 6.5/4
3-M3| Set screw 3-M3| Set screw 3-M3| Set screw
= - - A
<7 o oF
2 = = | U I _ s = [ I 4 5
o | "1 1 1 | - EN S B =Y A
© L e S e n
S| A <l
C-mount C-mount C=mount
251.7(0;1) 286.1(0:1) 286.1(0/1)
174. 85 (WD) 117.6 17. 526, 156. 25 (WD) 132.5 17,526,
55 56, 1 6. 5] 55 n 6.5
313/ Set_sorew 3-H3) Set sorew
— o - o
T L = 3
PAR B g =T <
s g8 1 T i 3| g B | ey Iy 4 3
= - —— = <
2 TVLO5-15 8\ TVL06-170CO TVLO6-1FDCO-F15
R |C-mount S| C-mount
300,9(0/1) 306.2(0/1)
152.2:£5 (D) .
= 17.526, 172.7:£50) 9.9 17,526 172.7:£5 ) 9.9 17,526
6.5[4
3-43) Set_screw 6.54 B.54
3-M3| Set._screw 3-M3| Set_screw
e = =
T -
2 T J_ T 3 2 ] SRR I 2 I - 5
A gL 8 ‘ R Y ‘ R
g 9 = I e | (R
. IS = Q S
. C-mount. # T 7#’
U3 Set screw f | C-mount | c-mount
583 M3 Set screw I M3 Set screw f
‘»B’g.l)l ¢B~s_02
14.2
14,2 14,2
46.3 616
60.9 16 60.9 @16
251.7(0/1)
286, 1(0/1) 286.1001)
174,85 WD) 126 17.526, 156. 225 (D) 132.5 17,526,
6.5(4 6,54
3M3| Set. screw 3-M3| Set screw
—'V .o 7_' o
3 ef ] L - I . 4 =
S g T — T 3 P e T R ’”4 3
| ML
= . = 4
] 2 et &
J . ?;‘, C-nount 4 " ?gw C-mount
& PRGN & losh Bz ¥
16 He
\2-H3 Set screw \2-M3 Set screw
s o4 \2-48 Set sorew s g 20 set sorew
30090/ 306.2(0/1)

TVL06-170

TVL06-170-F15 TVL08-170 TVL1-150
SesppEmas 0.5x £5% 0.6x *5% 0.6x +5% 0.8x £5% 1.0x £5%
, 2/3" - - - - -
(\*;l'ﬁ) 1727 9.6 x 12.8 mm = - 6.0 x8.0 mm 4.8x 6.4 mm
143" 7.2x9.6 mm 6.0 x 8.0 mm 6.0 x 8.0 mm 4.5 x 6.0 mm 3.6 x 4.8 mm
WD 1522 mm £5 172.7 mm *5 172.7 mm £5 174.8 mm *5 156.2 mm *5
YREIEE 251.7 mm 286.1 mm 286.1 mm 309.9 mm 306.2 mm
SERF 12.5 30.0 15.0 13.9 13.0
NA 0.020 0.010 0.020 0.029 0.038
2R AFEREC0.04mm 4.0 mm 6.7 mm 3.3 mm 1.7 mm 1.0 mm
TV&E 0.10 % 0.10 % 0.10 % 0.02 % 0.01 %
Bis¥= (Y=3) 90 % 95 % 95 % 99 % 99 %
EARE 172" /3" 173" 172" 172"
BE:EELE Y e - - - - -
= 769 48g 479 729 78¢g
HHE TVL05-150CO TVL06-170CO TVL06-170CO-F15 TVL08-170CO TVL1-150CO
purc 2 0.5x *+5% 0.6x *£5% 0.6x 5% 0.8x +5% 1.0x 5%
213" - - - = -
( CW.X%‘H ) 1/2" 9.6 x 12.8 mm — - 6.0 x 8.0 mm 4.8 x 6.4 mm
1/3" 7.2x9.6 mm 6.0 x 8.0 mm 6.0 x 8.0 mm 4.5 x 6.0 mm 3.6 x4.8 mm
WD 152.2 mm_*5 172.7 mm_*5 172.7 mm_%£5 174.8 mm_*5 156.2 mm_*5
WREIES 251.7 mm 286.1 mm 286.1 mm 309.9 mm 306.2 mm
SLHF 12.5 30.0 15.0 13.9 13.0
NA 0.020 0.010 0.020 0.029 0.038
RIR AIHEEEC004Mm 4.0 mm 6.7 mm 3.3mm 1.7 mm 1.0 mm
TVEE 0.10 % 0.10 % 0.10 % 0.02 % 0.01%
Bz (Y=4) 90 % 95 % 95 % 99 % 99 %
EESH 172" 1/3" 13" 1/2" 172"
REMERIAS Built-in Built-in Built-in Built-in Built-in
B8 82g 549 549 789 829

HOURS 3

E————
www.hours-web.com



TVL Series

Telecentric Lens

IWD:220mm

TVL08-220CO

232. 610 (D) 136.3 17,526
10_]4
303 Set serew

=]
P
g e | - 8
2 A

|

| | C-mount

25,8
1]
2

|

| M3 Set sorew
¢3‘s' 02

1.2

74 b18

40

-220CO

220,010 (4D) 146.5 17.526
10_[4
33 Set screw
3
&
g 41— L s
3| r |
. C-mount
e &
S IR
N M3 Set screw
|
688"
14.2
% 918
384.000/1)

386.4(0/1) ZZOCO
-ZZOCO 222.52:10 (WD) 131.8 17.526,
220.0£10(WD) 163.3 17.526, 38.8 4
104 3-M3|Set screw
3-M3|Set screw ) 1
g o
3 . —u e
§ t————— 1 [ T — e il
| C-mount.
C-mount.
! R M3 Set screw
g r‘ %&I — $8°3%
! I‘ M3 Set scrow s
dm’s.ﬂ?
62.6 616
$14.2 37.80/1)
74 $18
L8-220C0O
6-220C0 220810 (WD) 192.9 17.526,
93.9 4
221,310 (WD) 165.3 17. 526, 3-M3 Set screw.
66.3 4
3-N3Set_sorew =
| P e i T 1 2
) i [
o] .
=) - 1] R | I _ S
® 1 # | m[ —K— Cmount
= T 71 N Set soren
o C-nount g
R " M3 Set screw $14.2
l +0. 02
o5} 62.6 916
$14.2 431.2(0/1)
62,6 b 16
TVL10-220CO
218.4=10 (WD), 221.4 17. 526,
& TVL08-220CO TVL1-220CO 2.4 4
pucali-E 0.8x ¥5% 1.0x ¥5% 3413 Set. sorew
2/3" - -
)
(3‘)(?) 172" 6.0 x 8.0 mm 4.8 x 6.4 mm i M-
1/3" 4.5 x 6.0 mm 3.6 x 4.8 mm °F
WD 232.6 mm _*10 220.0mm_*10 3 _'_'_'_'_'_'T'_ 1 -
WiREIEE 386.4 mm 384.0 mm |
SLF 8.0 10.0 - va
i o
NA 0.050 0.050 | _;_ ©l Comount
RIR AVERELECOOAMM 1.0 mm 0.8 mm SR
M3 Set screw
TV£E -0.15 % 0.10 % I o
B (Y=4) 85 % 90% o}
Py 1/2" 172" 14.2
AR Built-in Built-in 626 16
58 2259 245 g
457.3(0,1)
Mg TVL2-220CO TVL4-220CO TVL6-220CO TVL8-220CO TVL10-220CO
HFER 2.0x £5% 4.0x £5% 6.0x *£5% 8.0x 5% 10.0x £5%
ne 2/3" - - - = -
(VxH) 172" 2.4 x3.2mm 1.2x 1.6 mm 0.8x 1.1 mm 0.6 x 0.8 mm 0.5 x 0.6 mm
1/3% 1.8 x 2.4 mm 0.9x 1.2 mm 0.6 x 0.8 mm 0.5 x 0.6 mm 0.4x 0.5 mm
WD 220.0 mm *£10 2225 mm £10 221.3mm _*£10 220.8 mm *10 2184 mm £10
WiREIEE 400.8 mm 377.8 mm 404.1 mm 431.2mm 457.3 mm
SCF 20.0 29.4 441 58.8 73.5
NA 0.050 0.068 0.068 0.068 0.068
SRIR AVFHEEC004MM 0.4 mm 0.1 mm 0.1 mm 0.07 mm 0.06 mm
TV&HE 0.10 % 0.10 % 0.10 % 0.10 % 0.10 %
RBisxs (Y=5.5) 90 % 90 % 90 % 90 % 90 %
EESH 1/2" 1/2" 1/2" 1/2" 172"
EABIE S = Built-in Built-in Built-in Built-in Built-in
B2 270 g 330g 360g 39049 420g

HOURS

E————
www.hours-web.com



IWD:220mm@ 16V —X

TVL2-220S

TVL2-220COS

Telecentric Lens

TVL Series

TVL2-220S TVL2-220C0S
FFEER 2.0x *5% 2.0x *5%
, 2/3' - -
220,010 (WD) 161.4 17.526
- 654 (\?—Lxﬁ) 1/2 2.4x3.2mm 2.4x3.2mm
220.0::104D) 161.4 = . 143" 1.8x2.4mm 1.8 x 2.4 mm
SAL e WD 222.0mm £10 _ 220.0 mm_*10
) Sef sorew % v s WREER 389.9 mm 398.9 mm
= ~ g| 1 + T+ °I 1 STHF 435 435
el f—— +._.+._ 3 iy ! NA 0.023 0.023
I %_ M3 Set sorew C-mount. SR AVHEAEC0.04mm 0.9 mm 0.9 mm
308,901 rmount Lot TVEE 0.10 % 0.10 %
9070 b14.2 B (Y=4) 90 % %0 %
0.2 =L BETH 112" 12"
398,90, 1) BE:EEzpako - Built-in
B8 66 g 70g
BWD:300-340mm
| TVLO7-340CO | | TVL1-300C0 T Niorsoco T s00co
FeFfER 0.7x ¥5% 1.0x £5%
340.0£10 (WD) 157.8 17.526 307.3=10 (WD) 180 17.526 2/3" —_ -
ME
39.8 4 61.9 4 (VxH) 172" 6.9x 9.1mm 4.8 x6.4 mm
g;lascm g t3ww 1/3"" 5.1x 6.9mm 3.6 x4.8 mm
J - WD 340.0mm_=+10 307.3mm_*+10
< I o  miEEs 5153 mm 504.8 mm
N = g E T —1 9 zwF 10.9 156
NA 0.032 0.032
Zl #{* —mount .,,] —}:— C-mount SR AVHEAEC0.04mm 1.8 mm 1.2mm
= s Set soren = [0 T set soren TV.RE 0.10% 0.10 %
[Tlest lssge BBk (Y= ) 100% 100 %
p1e.2 914.2 BEASH 172" 172"
9 16 [ 16 BEEhaE Built-in Built-in
515.3(0/1) 504.8(0/1) 58 235g 2659
1 5B 3RS (M15.5 PO.5 ##0)
= 4 =] 2 =
¢ 16mm FFEIEHKES ¢ 16mm NERLES
wD wD
f M-Mount } M-Mount

WDA40% %! o o o o
WD65% 51 o o o o o o o o o
WD110&% o o o o o o o o o

ERANERERNRLBTLURM.
BERMNEEMWER.

BIINSBECCDHELMHEM10.56 PO.5HRCEOBELENERENBEMELED.

1 5B 24EHES (M10.5 P05 #£0)

WD

1 Eih B S{M10.5 PO.5

WD

----- —F

S e e ] L

M19.5x0. 5

[

010.5x0.5
E70R E700
1 Dt EFIHE R
d12mmELI0ECEOR S ¢ 12mmiELEORS
LED C-HI0UNT WD LED C-HIOUNT
o1 ' 012
| |
. /‘43“‘_‘——|—L..1’—|"— ———————————in_,—;_'j:;}-—— —x1/3760D
| T 1
o ]
= | * LED3EIR : 0.3A/12V
I

HOURS *

E————
www.hours-web.com



High Resolution Telecentric Lens /&5 #=im i &k

TCL Series

75.32 (WD) 60.5 17. 526
%R{ttbg 28.5 25.5 6.5/4
3-M3 Jet screw
iR TCL % = i
I oi =
% C-mount
153.3 (0/1)
‘ N TCL08-65
KBTCRIIFWDGS, 1M10mmANELEN AR BTG RN HREERF 1 32200) . .
.3+ 17.

wMESL R, 21 30.5 6.5/4

3-M3 Set screw
= SESeE Y 4 =h—y
R R KA RN IA LFERNBEBEEET AERSEKE — ¢
°F S
= T NII=% N === T wld
L E TR BEEELE EABER TUNESRENER. S T S
=|
3 -
. N
BWD:65-75mm oy Conount
154.8(0/1)
53,3 65.0
£3 (WD) 57 17,526 68. 8:2 (WD) 76.9 17.526 +2 (WD) 74.4 17.526
6,504 21 49.4 6.54 16.4 51.5 6.5/4
| 3-M3 3-M3
! Set sprew Setscfew
oF - = W - =
o~ o °F 5 | >
S——rtter 3 Tl e R .
o & S QA it — 18
— b ~ — =
C-mount °;?‘ Chount o3
N — g C-moynt
© 9
127.8(0/1) 163.2 (0/1) 156. 9 (0/1)
65. 02 (WD) 80.2 17.526, 59. 82 (WD) 111.4 17,526,
13.2 60.5 6.5/4 13.2. 91.7 6.5/4
33 Set sorew 3-M3 Set screw
VA
-] o
o
T i3 T
T S | A g 18 e “’.i L/ 3
© g S S § - T D hd - Ry
5 - = =
& 77
N C-mount NS G-mount
2 -
162.7 0/) 188.7(0/1) e
65.02 (D) 105.3 17526 65.8:£2 (D) 118.4 17.526
22.3 76.5 6.54
- - - 22.3 89.6 6.5(4
3-M31Set screw 3-M3 |Set screw
= =2 ] Z
o = N
g o s & =T /] 3
© g | =Y § R hd - S
- n -~ ~
o5 .
Py C-mount 3 C-mount
187.8 (0/1) 201.7 (0/1)
TCLO05-65 TCL08-65 TCL1-50 TCL1-65 TCL1.5-65 TCL2-65 TCL3-60 TCL4-65
FRER 0.5x 5% 08x ¥5% 1.0x £5% 1.0x £5% 1.5x 5% 2.0x *5% 3.0x *5% 4.0x ¥5% 6.0x 5%
M /3" 14.2 x 16.8 mm 8.9 x 10,5 mm 7.1 x84 mm 7.1 x84 mm 4.7 x 5.6 mm 3.6 x 4.2 mm 2.4x28mm 1.8x2.1 mm 1.2x1.4mm
(\?JXH) 2 9.6 x 12.8 mm 6.0 x 8.0 mm 4.8 x 6.4 mm 4.8 x 6.4 mm 3.2x4.3mm 2.4 x3.2mm 1.6 x 2.1 mm 1.2x 1.6 mm 0.8x 1.1 mm
1/3" 7.2x9.6 mm 4.5 x 6.0 mm 3.6 x4.8 mm 3.6 x4.8mm 2.4x3.2mm 1.8x2.4 mm 1.2x 1.6 mm 0.9x 1.2 mm 0.6 x 0.8 mm
WD 75.3mm *2 70.3mm *2 53.3mm *3 68.8 mm £2 65.0mm £2 65.0mm £2 59.8 mm £2 65.0 mm £2 65.8 mm *2
WREIEBEO/ 153.3 mm 154.8 mm 127.8 mm 163.2 mm 156.9 mm 162.7 mm 188.7 mm 187.8 mm 201.7 mm
LHF 9.4 9.6 9.9 9.9 11.8 13.6 20.5 17.9 27.0
NA 0.027 0.042 0.050 0.050 0.064 0.074 0.073 0.112 0.111
SR AREEEPC004mm 3.0 mm 1.2 mm 0.8 mm 0.8 mm 0.4 mm 0.3 mm 0.2 mm 0.09 mm 0.06 mm
TVERE(2/3") 0.02 % 0.01% 0.02 % 0.01% 0.01% 0.03 % 0.01% 0.02 % 0.02 %
Ais¥s (Y=5.5) 94 % 98 % 99 % 99 % 100 % 98 % 99 % 85 % 84 %
Per=yiyan 2/3" 2/3" 2/3" 2/3" 2/3" 2/3" 2/3" 2/3" 2/3"
[EhERE X - = — — — — — — —
wHEOR M 305 P=0.5 M225 P=0.5 - M225 P=0.5 M 225 P=0.5 M 2255 P=0.5 M225 P=0.5 M2255 P=0.5 M225 P=0.5
oy 629 58 g 47 g 60 g 60 g 58 g 729 80g 88g

42 HOURS

www.hours-web.com



| 7cL05-65c0 NN TCL08-65CO

75.3 70. 3=2.(HD) 67 17,526, 93.3
=2 (WD) 60.5 17. 526, +3 (WD) 57 17,526
6.5/4 6.5)4 6,5/4
33 3-M3|Set screw 1
Set sprew -
e / P— : N S
oo o~ —J | - - ®
il ) 7 Al s . T °ITE
88+ -HieH-— g 8§ it g .
2 | = . -
bS]
= 3 = é'f p C-mount
- # = unt $—_ e I N T
a 8 +0,022 N[+
S i& g oo S AR |_G-mount J:T:, g2
B\ pus s 8\ 943 set sorew b4 2-M3 Set screw
N.2-M3 Set screw \2-N3 Set screw
s o4 et screw 25.8 b14 17
153.3 (0/1) 154.8(0/1) 127,8(0/1)
68. 8-£2 (WD) 76.9 17. 526, 65. 02 (WD) 74.4 17. 526
6.5[4 6.5/4
3-M3 [Set screw 3-M3[Set screw
A A
— = —
o o
A I | e I A | 8 MO B S 7
e g 1 S o o ] ©
1 T
23! < N oo <
. T o
o N C-mount o G-mount
< 4%?» o2 e & %8& +g.022 § ©
\2-M3 Set screw \2-M3 Set screw
25.8 b 14 20.9 d14
163.2 (0/1) 156.9 (0/1)
65. 0=£2 (WD) 80.2 17. 526 59. 82 (WD) 111.4 17. 526
6.5/4 6.54
3-M3|Set screw 3-M3|Set screw
a .
—| & )
o 5 p
A o w| 9T o
g8 I — 1 - 3 88 T T | 2
= =
I L
é\ Rt -?\. ?j C-mount
Q o8)\4 2 i.ﬁg 1 C-mount PR b Sle ot
H8 H8
\.2-M3 Set screw \2-M3 Set screw
17.1 @14 17.7 P14
162.7 (0/1) 188.7(0/1)
65. 02 (WD) 105.3 17. 526 65. 82 (WD) 118.4 17. 526
6.5/4 6.54
3-M3 [Set screw 3-M3|Set screw
~ -
-~ > = 2
Rl o T
w2 S o =X / s
E = I O ’# s o § T T T T 1 e
T 1
4k & : & & :
7] = 9
< J?_Q .02 e 1 Comount < 1’.& og.022 Se r Lomount
H8 H8
\2-M3 Set screw \2-M3 Set screw
26.8 o114 26.8 14
187.8 (0/1) 201.7 (0/D

TCL05-65CO TCLO8-65CO TCL1-50CO TCL3-60CO TCL4-65CO

FERfER 0.5x £5% 0.8x £5% 1.0x £5% 1.0x £5% 1.5x £5% 2.0x £5% 3.0x £5% 4.0x £5% 6.0x £5%

2/3" 14.2 x 16.8 mm 8.9x 10.5 mm 7.1x8.4 mm 7.1 x 8.4 mm 4.7 x 5.6 mm 3.6 x4.2 mm 2.4x2.8mm 1.8 x 2.1 mm 1.2x 1.4 mm
(VxH) 12" 9.6 x 12.8 mm 6.0 x 8.0 mm 4.8 x 6.4 mm 4.8 x 6.4 mm 3.2x4.3 mm 2.4 x 3.2 mm 1.6 x 2.1 mm 1.2x 1.6 mm 0.8 x 1.1 mm

113" 7.2 x 9.6 mm 4.5 x 6.0 mm 3.6 x 4.8 mm 3.6 x 4.8 mm 2.4 x 3.2 mm 1.8 x2.4 mm 1.2x 1.6 mm 0.9 x 1.2 mm 0.6 x 0.8 mm
WD 753 mm £2 70.3mm £2 53.3mm £3 68.8 mm 2 65.0 mm £2 65.0 mm £2 59.8 mm 2 65.0 mm £2 65.8 mm +2
WIREREE O/ 153.3 mm 154.8 mm 127.8 mm 163.2 mm 156.9 mm 162.7 mm 188.7 mm 187.8 mm 201.7 mm
SEF 9.4 9.6 9.9 9.9 11.8 13.6 20.5 17.9 27.0
NA 0.027 0.042 0.050 0.050 0.064 0.074 0.073 0.112 0.111
SR A Ee004mm 3.0 mm 1.2 mm 0.8 mm 0.8 mm 0.4 mm 0.3 mm 0.2 mm 0.09 mm 0.06 mm
TVKE (2/3") 0.02 % 0.01 % 0.02 % 0.01 % 0.01 % 0.03 % 0.01 % 0.02 % 0.02 %
Bix= (Y=5.5) 94 % 98 % 99 % 99 % 100 % 98 % 99 % 85 % 84 %
Per=vya 2/3" 2/3" 2/3" 2/3" 2/3" 2/3" 2/3" 2/3" 2/3"
Bkt y Built-in Built-in Built-in Built-in Built-in Built-in Built-in Built-in Built-in
BEOR M305 P=0.5 M225 P=0.5 M225 P=05 M225 P=05 M225 P=05 M225 P=05 M225 P=05 M225 P=0.5
£ 66g 62g 52g 649 64g 62g 769 84g 92g

HOURS *

www.hours-web.com



44

High Resolution Telecentric Lens

IWD:110mm

TCL Series

L -110

110, 85, 5 (WD)

128.5

TCLO8-110

12526, 110.7:£3.3 (D) 128.5 17.526
72.5 49.5 6.5/4
48 74 6,54
/wM 3-M3|Set_screw
b a
= g J < < 7
8 +——— " 1—1—1——°1—1% g8 4o s
A = Ay
3 3 )
3 C-mount N G-mount.
256.8 (0/1) 256.7 (0/1)
110. 3:3. 3(HD) 129 17.526 110.8::3. 3(ND) 128.5 17. 526
33.5 89 6.5/4 32 90 6,54
3-M3|Set screw 3-M3|Set screw
i 7
=z < g
98 +—— 1 ———#¥ 13 88 +—f++————#¥
= = - ~
<% o
& 8
< {_C-mount < *{_G-mount
256.8(0/1) 256.8 (0/1)
110. 8-3. 3(WD) 128.5 17.526 103,143, 3(ND) 1747 17,526,
29 93 6,54
29 139.2 6.5/4
M3 {Set sorew 3-M3|Set screw
4 T A
3L 4l 2 El
S ¥ T 71 1 T T 11— S Q5 4-—tr+ L L L S - 8
s = hd S|
% . L e S
§ C-mount ?z C-mount
e (I
8|
256.8 O/1) 295.3(0/1)
110, 83, 300) 1285 17,526 110.9:£3. 3 (WD) 141.5 17.526
31 104 6.5/4
32 90 6.5/4 :
313 |set screw 3-M3 | Set screw
= ; I F 1
Pl 4 - g gt Lo 4L Ml s
'y 4+—-—t—1—F-T-—-——-—-— I o & S|
r = < oi =
8 S C-mount
3| G-mount ® e
256.8 (0/1) 269.9(0/1)
TCL1-110 TCL1.5-110 TCL2-110 TCL3-100 TCL4-110 TCL6-110
SeEAfEER 0.5x £5% 0.8x £5% 1.0x £5% 1.5x £5% 2.0x £5% 3.0x £5% 4.0x £5% 6.0x £5%
n 2/3" 14.2 x 16.8 mm 8.9 x 10.5 mm 7.1 x 8.4 mm 4.7 x 5.6 mm 3.6 x 4.2 mm 2.4x 2.8 mm 1.8 x 2.1 mm 1.2x 1.4 mm
(VA‘EE‘) 1/2u 9.6 x 12.8 mm 6.0 x 8.0 mm 4.8 x 6.4 mm 3.2x4.3 mm 2.4 x 3.2 mm 1.6 x 2.1 mm 1.2x 1.6 mm 0.8x 1.1 mm
457 7.2 x 9.6 mm 4.5 x 6.0 mm 3.6 x 4.8 mm 2.4 x3.2mm 1.8x2.4 mm 1.2x 1.6 mm 0.9x1.2mm 0.6 x 0.8 mm
WD 110.8 mm 5.5 110.7 mm %3.3 110.3 mm 3.3 110.8 mm 3.3 110.8 mm 3.3 103.1 mm £3.3 110.8 mm 3.3 110.9 mm 3.3
Wi&iEEE O/ 256.8 mm 256.7 mm 256.8 mm 256.8 mm 256.8 mm 295.3 mm 256.8 mm 269.9 mm
SEF 9.5 11.0 10.5 12.0 13.5 20.9 22.2 39.3
NA 0.026 0.036 0.048 0.063 0.074 0.072 0.090 0.076
IR AEEEC004mm 3.0 mm 1.4 mm 0.8 mm 0.4 mm 0.3 mm 0.2 mm 0.1 mm 0.09 mm
TVSE (2/3") 0.02 % 0.02 % 0.02 % 0.02 % 0.03 % 0.01 % 0.03 % 0.03 %
Binyt= (Y=5.5) 98 % 99 % 99 % 99 % 95 % 99 % 87 % 87 %
EESH 2/3" 2/3" 2/3" 2/3" 2/3" 2/3" 2/3" 2/3"
BE: itz vaE:Y - - - - - - - -
EEOs M30.5 P=0.5 M27 P=05 M27 P=0.5 M27 P=0.5 M27 P=0.5 M27 P=05 M27 P=0.5 M 225 P=0.5
£ 92g 92g 92g 84g 88g 110 g 90 g 90 g

HOURS

E————
www.hours-web.com



High Resolution Telecentric Lens TCL Series

TCLO5-110CO T -110CO

110. 8-+5. 5 (WD) 128.5 17,526, 110.7+3. 3 (WD) 128.5 17. 526,

=

3-M3|Set screw 3-M3|Set screw

=0,

63281
430, 5 P=0,
|

|

|

i

|

i

|

i

|

i

|

|

i

[

[

|
}

|

i
N
$30
6298,
w27

|

[

|

\

|

\

|

\

P P
= *a = U kg = -
| by i ?j C-mount
& ghlgoz e f. C=mount <l gh[go2 S fC-mount
0 of"
He
H8 2-M3 Set screw
2-M3 Set screw
71.3 @14 64.8 o114
256.8 (0/1) 256.7(0/1)
110.3:3. 304D) 129 17,526, 110. 83, 3WD) 128.5 17,526,

3-M3|Set screw 3-M3|Set screw

I R i
=5 I o < T (S
S R — 77777*7*7————¢~— 8 a o 4 Il 1] ,,,,7"i,i,i,¢,,i 3
s | DY :[ 3
PR 1 ]
— H g . — i = .
7 = o=
< %;’— +g.022 §$ Cmount =S o842 § e {_C-mount
\2-lI3 Set screw H8 oo
48 514 6.5 514 [\ 243 Set screw
256.8(0/1) 256.8 (0/1)
110.8-£3. 3 (WD) 128.5 17. 526, 103. 1£3. 3 (WD) 174.7 17.526,
6.5/4 6.54
3-M3|Set screw 3-M3|Set screw

2N
0.5

5 1 ] < I L
= =Y 2 =
3 8 T 177’7’7’7’7""7 = SE T I s
PR L L
g == = e = =
42 e < ]
C-mount y | C-mount
< n 4022 §$ un < ol lgoz if
H8 H8
\.2-M3 Set \.2-M3 Set
4.5 14 e seren s o et sorew
256.8 (0/1) 295.3(0/1)
110. 8£3. 3 (D) 128.5 17. 526, 110. 9=3. 3 (WD) 141.5 17.526,
6.5/4 6.5/4
3-M3|Set screw 3-M3|Set screw
= -] =
o5 T g Ll
P ¢ < P ¢ s
2l o i i J I PR | N I Qg N |
s = 8| sl § 8|
L — i P = U
= pe = b
= m g 022 §8 {_C-mount = m 1g.022 §8 {_C-mount
H8 H8
\2-M3 Set screw \2-M3 Set screw
46.5 @14 45.8 P14
256.8 (0/1) 269.9(0/1)

TCL08-110CO TCL1-110CO TCL1.5-110CO TCL2-110CO TCL3-100CO TCL4-110CO

il 0.5x £5% 0.8x £5% 1.0x £5% 1.5x £5% 2.0x £5% 3.0x £5% 4.0x £5% 6.0x £5%

2/3" 14.2 x 16.8 mm 8.9 x 10.5 mm 7.1 x 8.4 mm 4.7 x 5.6 mm 3.6 x4.2 mm 2.4x 2.8 mm 1.8x2.1mm 1.2x 1.4 mm
(T;leﬁ) 172" 9.6 x12.8 mm 6.0 x 8.0 mm 4.8 x 6.4 mm 3.2x4.3mm 2.4x3.2mm 1.6 x2.1 mm 1.2x1.6 mm 0.8x 1.1 mm

1/3" 7.2x9.6 mm 4.5 x 6.0 mm 3.6 x 4.8 mm 2.4x3.2 mm 1.8x 2.4 mm 1.2x 1.6 mm 0.9x1.2mm 0.6 x 0.8 mm
WD 110.8 mm 5.5 110.7 mm £3.3 110.3 mm +3.3 110.8 mm £3.3 110.8 mm £3.3  103.1 mm £3.3 110.8 mm £3.3 110.9 mm 3.3
WHRIEIEEES O/ 256.8 mm 256.7 mm 256.8 mm 256.8 mm 256.8 mm 295.3 mm 256.8 mm 269.9 mm
SEHF 9.5 11.0 10.5 12.0 13.5 20.9 22.2 39.3
NA 0.026 0.036 0.048 0.063 0.074 0.072 0.090 0.076
IR SirEEEC004mm 3.0 mm 1.4 mm 0.8 mm 0.4 mm 0.3mm 0.2 mm 0.1 mm 0.09 mm
TV5E (2/3") 0.02 % 0.02 % 0.02 % 0.02 % 0.03 % 0.01 % 0.03 % 0.03 %
Ain¥t=(Y=5.5) 98 % 99 % 99 % 99 % 95 % 99 % 87 % 87 %
SEASH 2/3" 2/3" 2/3" 2/3" 2/3" 2/3" 2/3" 2/3"
EEE e Built-in Built-in Built-in Built-in Built-in Built-in Built-in Built-in
EEOR M30.5 P=0.5 M27 P=05 M27 P=05 M27 P=0.5 M27 P=05 M27 P=05 M27 P=05 M 225 P=0.5
oy 98 g 98 g 96 g 88 g 94 g 114 g 96 g 94 g

HOURS %

www.hours-web.com



Mega Pixel Telecentric Lens

TML Series K

__Tvio25-65 [N

=
- ETRY200~500(& R BIT L, .
% [5] ‘j; @22 38.9 29.6 13.5 |4
{%._']-L ° 3-M3 Set screw AL
. =/ e —
HERHBERAINSNATIESXILE.
A P4 N
- KB RA F- N R VU N N I O T
Y Y S
< C-mount
A
164.3(0/1)
BWD:65mm
64. 83 (D) 82 17,526, 66,322 (WD), 85.9 17526,
T 4
33 Set screw s 66.3:2 (WD) 85.9 17.526, M2.6 Set screw 3403 Bet sorew
3.5 50.4 4
I M2.6 Set screw. 33 |set screw
2 JE RO DU RS e - & 8 & 4 - — 8
o T o by T g
| |
__‘ T " w0 C-mount ® T T T ) :_ T H C-mount
| | Iris ri
M3 Set screw .02 C-mount. M3 Set screw [ 00 ris-Hing
98 \Iris ring 08
RALEY 169.7(0/1) |14.2]
48.5 916 51 @16
164.3(0/1) 169.7(0/1)
65. 022 (WD) 95.8 17.526,
65.0220) o 17526 2 N 65,02 (WD) 95.8 17.526,
17 49.8 29 4 M2.6 Set screw 3-M3 Set screw 17 49.8 29 4
M2.6 Set screw 3-M3 Set screw ,L M2.6 Set screw 3-M3 [Set screw
b5 | R — - é _ S
o Y S
8 o U | P4 ol o N
| B b’ S| L I e B -— 2
~ F—— C-mount
s N ; L&} \dris ring
R - -‘-qu C-mount
|
3 S
178.3(0/D) et sorew P 178.3(0/D)
$14.2
32.5 ®16
178.3(0/1)
65,02 (WD) 95.8 17.526,
M2.6 Set screw 2 4 TMl- _
— SesfE 025x % 075x *5% 1.0x £5% 2.0x _5%
. 2/3"
i — . WEF o0 19.2 x 25.6 mm 6.4 % 8.5 mm 48x6.4mm 24x3.2mm
(VxH) o, T2.4x19.2 mm 78x6.4mm 3.6x4.8mm T8x 2.4 mm
WD 648 mm 3 66.3mm £2 66.3mm £2 65.0 mm £2
YigiE e O/ 164.3 mm 169.7 mm 179.9 mm 178.3 mm
3 \Iris ring SEF 37 5.0 6.2 6.6
NA 0.034 0.076 0.081 0.152
e SR AR E0004mM 4.7 mm 0.7 mm 0.5 mm 0.1 mm
13 Set screw7 {eeo TVAE (1/27) 0.05 % 0.05 % 0.05 % 0.10 %
EAE 172" 172" 172" 172"
32.5 @16 Az - Built-in = Built-in - i Built-in = Built-in
Bk
178.3(0/1) 58 195 g 195 g 146 g 148 g 1559 160 g 200 g 210g
BWD:110-335mm
TMLO1-180 01-180 *%#zes
104
183. 5:66 (D) 189 11526 /,/"— == 1
66,5 132,56 4
5 N A\ H
— - 4-M4 P=0.7 Z46 N /
,,,,,,,,,,,,,,,,,,,, I 1-180 i NP
N SpsER _0ax 5% 4 [ i
, /1.8"  54.0x71.0 mm \ . 2
MEF T YT N\ N
(VxH) 172 48.0 x 64.0 mm 4 \/ N |
< - | 173" 36.0 x 48.0 mm 2
|z ] o WD 183.5 mm £6 ) -
SERIE B i - - 4: = — ¥g EEmON 390.0 mm HHE!
- 1 Esiy 5.6
H NA 0.009
343 Set sorew | C-mount SR AFEEEC004M 44.8 mm . 1
TVERE (1/1.8") 0.01 % T |
| BABA 171.8" o i )
I T mmsR = 79 | ]
3 wEOE M112 P=1.0 D
390.0(0/1) Eo=y 940 g o

46

HOURS

www.hours-web.com



BWD:110-335mm

TMLO17-110

1135, 5 (WD) 91.5

17.526,
21 34 36.5 4
1.[J12.5 7.
2x3-W4 FH46 3-M3 Set screw
|23 Set_sorew
0
- 5 [
o5
S g _ ¢ ‘ ol =] ol g B
e = T > }"’ A R | °
. JL
@
I C-mount
2(180°)-577542
228.0(0:1)

TMLO17-110CO

1135 5 (D) 91.5 11.526,
27 34 36.5 4
1125 7.
2% 3-W4 246 3-H3 Set screw
| 43 Set serew
2| -
= g ,{Y,,
° e =
g g 1 — 4o I¢:Ff ottt -— g 2
&
, ¥
U
— | w)|
p :t < \[C-mount
_— =
2(180°) ~Th577542 M3 Set sorew 83
16
228.0(0/1)
112.5:5. 5 (WD) 111.2 17.526
56.7 32.5 2 __|a
= ‘ 3-M3 Set screw
L /
o S
g +-———- GIE==TF==1r —&---— g
-
= g C-mount
A
241.2(0/1)

T 22-110CO

112.5+5.5 (WD)

1.2

17.526,

3-M3 Set sorew

b
© 2 Al o
2 g i =T 1 9
“
[~ & C-mount
M3 Set screw
M‘s.nz
14.2
69.2 ®1
241.2(0/1)

Mega Pixel Telecentric Lens

TML Series

130. 8:£4 (WD) 144 17,526
80.5 63.5 4
M2 Lock scre|
| ~
- = 1 -
= ¥ ]
= E + g
] L
C-mount
292.3(0/1)
pk TMLO17-110 TMLO17-110CO TMLO19-130
HRER 0.177x *5% 0.17x *5% 0.19x +5%
m 2/3" - = 37.4 x44.2 mm
(VLX;EI) 1/1.8" 31.8 x41.8 mm 31.8 x41.8 mm 28.4x37.4 mm
172" 28.2 x 37.6 mm 28.2 x 37.6 mm 25.3 x 33.7. mm
1/3" 21.2 x 28.2 mm 21.2 x 28.2 mm 18.9 x 25.3 mm
WD 113.0 mm *5,5 113.0 mm *5.5 130.8 mm *4
MEBDIEBO/N 228.0 mm 228.0 mm 292,3 mm
SEHF 4.0 4.0 43
NA 0.021 0.021 0.022
BIR AYFEEEC004mm 11.1 mm 11.1 mm 9.5 mm
TVRE (1/1.8") 0.02 % 0.02 % -0.01 %
EERH 1/1.8" 1/1.8" 273"
L)y — Built-in —
EEBOR M67 P=0.75 M67 P=0.75 M72 P=0.75
S 380 g 390 g 410 g
154. 0:£7. 5 (WD) 108.5 17.52,
41.5 38 23 |4
M2.6 Set Screw
3-M3 [Set screw
g A — 2
/
C-mount
2(180° )-rhd67542 / 5 Iris ring
2(180° )-M4 iF46
30
280.0(0°1)
M TML022-110 TML022-110CO TML022-150
HfER 0.22x 5% 0.22x +5% 0.22x *5%
2/3" — — 32.3x38.2mm
e 1/1.8" 24.5 x 32.3 mm 24.5 x 32.3 mm 24.5 x 32.3 mm
(\fo) 172" 21.8x 29.1 mm 21.8 x 29.1 mm 21.8 x 29.1 mm
113" 16.4 x 21.8 mm 16.4 x 21.8 mm 16.4 x 21.8 mm
WD 112.5 mm_ *5.5 1125 mm £5.5 154.0 mm *7.5
WREIEEO/ 241.2 mm 241.2 mm 280 mm
SEF 5.6 5.6 5.5
NA 0.020 0.020 0.020
TR AVHEEEC04mm 9.3 mm 9.3 mm 9.1 mm
TVKE (1/1.8") 0.05 % 0.05 % 0.02 %
EATSE 1/1.8" 1/1.8" 2/3"
BBBA - Built-in —
EIEOR M55 P=0.75 M55 P=0.75 —
B8 380 g 380g 360 g

HOURS *

www.hours-web.com



Mega Pixel Telecentric Lens TML Series

TML025-150 TML025-150S

163,027 (D) 9.2

12526 153.0:£7 (WD) 98.2 17.526,
48,5 205 2.2 |4 4.5 1.7 .
|16 1.l16
|2 Set sorew. 343 Set sorew
3 - ———- - [ W (N S | I
§ femount. C-mount
2.6 Set Screw Iris ring
268.7(0 1) 268.7(0/1)
153. 07 (WD) 98.2 17.526,
N L
1lue 153, 4::5 (D) 119 17.526,
| S8 Set soren 4.5 7.5 4
3-M3|Set_screw
3 IS S AN | (N | P o
R ‘ hd | ® = M 2
i T o5
< 2 g JE I O S [ I I | E— 8
- y 3 F g
mrun B C=mount u
| <
M3 Set screw T ‘ Y F—
$14.2 289.900 1)
58 %16
268.7(0/1)
153.4:5 (WD) 119 17.526,
. 249. 327, 5ID) 132.2 17.526
- 4
343 |Set screw
3-M3 Set screw
‘ - . o _
o Al 2 41 :
UL T g8 +——f—j———f 1 5
Py g LS
I B _ %
M3 Set screw,, %g. e [\ Grmount 3“‘9 |C-mount
50.5 o14 399.0(0/1)
289.9(0/1)
249.3x7.5(WD) 132.2 17.526,
35511 (WD) 1925 17. 526,
4 185 51.5
3-M3 Set screw
= 1} =
4 1 - .
€Y e 41
[ 18 - B i
= =
%
w gﬁ C-mount.
& o8| \3 2 g g Caoint
H8 |\ 2-M3 Set screw
70.7 b4 565.0(0/1)
399.0(0/1)
TML025-150 L025-150S TML025-150CO TML03-150 TML1-250
NKEBfER 0.25x *+5% 0.25x +5% 0.25x +5% 0.3x *5% 0.3x £5% 1.0x £5% 1.0x £5% 1.0x
2/3" — — — 23.7 x 28.0 mm 23.7 x28.0 mm 7.1 x 8.4 mm 7.1 x 8.4 mm =
MEF 1/1.8" - — — 18.0 x 23.7 mm 18.0 x 23.7 mm 5.4x 7.1mm 5.4x 7.1mm 5.28 x 7.04 mm
(VxH) 1727 19.2 x 25.6_ mm 19.2 x 25.6 mm 19.2 x 25.6 mm 16.0 x 21.3 mm 16.0 x 21.3 mm 4.8 x 6.4 mm 4.8 x 6.4 mm 4.8 x 6.4 mm
1/3" 14.4% 19.2 mm 14.4 x 19.2 mm 14.4 x 19.2 mm 12.0 x 16.0 mm 12.0 x 16.0 mm 3.6 x 4.8 mm 3.6 x 4.8 mm 3.6 x 4.8 mm
WD 153.0 mm *7 153.0 mm *7 153.0mm *7 153.4 mm *5 153.4mm £5 2493 mm 7.5 249.3mm *7.5 355.0mm £11
WHRIBEER O/ 268.7 mm 268.7 mm 268.7 mm 289.9 mm 289.9 mm 399.0 mm 399.0 mm 565.0 mm
SEHF 3.9 3.9 3.9 7.5 75 10.0 10.0 7.5
NA 0.032 0.032 0.032 0.020 0.020 0.050 0.050 0.067
SR AHEEEC004MM 5.0 mm 5.0 mm 5.0 mm 6.7 mm 6.7 mm 0.8 mm 0.8 mm 0.6 mm
TV&E(1/2") 0.05 % 0.05 % 0.05 % 0.03 % 0.03 % 0.00 % 0.00 % 0.05 %
EESHE 1/2" 1/2" 1/2" 2/3" 2/3" 2/3" 2/3" 1/1.8"
RS - - Built-in = Built-in = Built-in =
EEOR — — — M46 P=0.75 M46 P=0.75 M43 P=0.75 M43 P=0.75 M55 P=0.75
T8 250 g 250 g 260 g 2259 2259 220 g 230 g 440 g

48 HOURS

E————
www.hours-web.com



Mega Pixel Telecentric Lens TML Series

011" (K&ERE)
L03-130 UM L ™ o [0]0) UMy 3L

130. 2:£4 (WD) 192,5 17,526, 95,23 (WD) 166.9 17.526,
13 42 4.5 36 4 58.1 82.3 2.5 |4
M2 |Lock srew
M3 Set screw 343 Set_sorew
. —
o3 1 o _
b3 S [N | (N N | I 2 )
s g ©] 3| i | — ————»ag—f— é————f—{Z [ — g%
i o
oo | I
< | C-mount L
© 2 C-mount
L 2 ©
< 340.2(0/1) 279.6(0/1)
=N S A= N =Y
WMz NSk UMz RSk
132, 9=4(WD) 189.5 17,526, 150. 84,5 (WD) 205,5 17,526,
50.5 80 59 4 ) 18,5 87 4
M2 Lock sorew M2 Lock screw
e ] | = ]
)| L ~ —
= I [ b E
= 2 g |+ Ifrfe - .
By 4———— - —t—-1t—-—1F o— —-—-—-—1feiH-— F| 3 g
S 1
o C-mount. — o %
— , e C-mount.
330.9(0/D) 373.8(0/1)
= S
TML1-130 WMk 3-50CO
131,54 01D) 261.5 17,526 53.9:£2.50MD) 115.5 17.526,
21 9 2% 14,5 4 9.824
M2 Lock screw !
— @ _
q § - ——————— it g
=4 < £ n
i F < w u (=
38 +——F-— - T fti® 1T 1 —fetr—1 3 343 Set sorew/
< el | s
< | C-mount
— \ M3 Set screw " est
— 6142
8 5 .
3 3 Comount 16
a0son 3.9 ¢
186.9(0/1)
52.4+2.5 133.3 17.526, 150.9 17.526,
(WD) 231 _6.54 (o 0.1 6.5/4

3-M3 Set screw

| | U
3-M3 Set screw - -, —i:— o
Sl S < S
& R | e s
C-mount. 4‘\ ‘ C-mount
W3 Set screw 58002 M3 Set screw |_‘__L¢73‘8-02
14.2 14.2
34.9 $16 34.9 $16
203.2(0/1) 219.9(0/1)
50,92, 5 (WD) 168.7 17.526, 50.4=£2.5 (WD, 186.6 17,526,
58.5 6.5/4 76.4 6.54
o = 9 s
11— 1l 8 8§ +——— 1 ——— 1t %
| . | .

$28

_Ei:_ 3-M3 Set screw - T 3-M3 Set screw
S S G- & |2

3 Set screw g0 M3 Set screw I g0

<]
2
5
=3

34.9 16 34.9 @16
237.1(0/1) 254,5(0/1)

TMLO04-100 TMLO7-150 TML1-130 TML3-50CO TML5-50CO TML7-50CO
KFfER 0.3x £5% 0.4x +5% 0.5x +5% 0.7x +5% 1.0x £5% 3.0x £5% 4.0x £5% 5.0x £5% 6.0x £5% 7.0x £5%
MEF 1 _37.5x37.5mm 28.2x28.2mm _225x225mm__16.1x16.1mm_11.3x11.3mm _3.8x3.8 mm 2.8 x2.8 mm 2.3x2.3mm 1.9x 1.9 mm 1.6 x 1.6 mm
ey |27 237x280mm 17.8x21.0mm  142x168mm 101x12.0mm 7.1x84mm  24x28mm _ 1.8x21mm _ 1.4x1.7mm 1.2x1.4mm __ 1.0x1.2mm
1/2" 16.0 x21.3 mm_12.0x 16.0 mm 9.6 x 12.8 mm 6.9x9.1 mm 4.8 x 6.4 mm 1.6 x 2.1 mm 1.2x 1.6 mm 1.0x 1.3 mm 0.8 x 1.1 mm 0.7 x 0.9 mm
WD 130.2mm *+4 952mm *+3 1329 mm *4 150.8 mm *4.5 131.5mm *£4 53.9mm £25 524mm *25 51.5mm *25 50.9mm *25 504mm *25
WiREIEE O/ 340.2 mm 279.6 mm 339.9 mm 373.8 mm 410.5 186.9 mm 203.2 mm 219.9 mm 237.1 mm 254.5 mm
SLHF 5.8 4,0 4,6 5.3 6.3 15.0 20.0 25.0 30.0 35.0
NA 0.026 0.050 0.055 0.066 0.080 0.100 0.100 0.100 0.100 0.100
SRR AVFHEHECCO4MM 5,1 mm 2.0 mm 1.5 mm 0.9 mm 0.5 mm 0.1 mm 0.1 mm 0.08 mm 0.07 mm 0.06 mm
TV&RE(1") 0.01 % 0.02 % -0.02% 0.01% 0.00% 0.32 % 0.09 % 0.03 % 0.00 % 0.00 %
1ZE ©$20 mm $16 mm $18 mm $18 mm ¢18 mm $18.5 mm ®$22 mm ®»22 mm $22 mm $22 mm
Bkl - - - - - Built-in Built-in Built-in Built-in Built-in
REOR M82 P=0.75 = M67 P=0.75 M55 P=0.75 M49 P=0.75 — _— = - —_—
o 940 g 680 g 720g 580 g 610 g 120 g 132g 148 g 155¢g 160 g

HOURS +°

www.hours-web.com



50

1" Telecentric Lens, /3t Rz 17 H#HLEE T 08 3k

TFL Series [HZFS

A~9E AR MBS FIZ Ok, BIATEREE

I

SRMMLERATEFRE, FERNIHBRHELH

“HERER, EEEFRBERLERT, ZEREK,

TFLO11-220

222.5(WD)

290 17.526
50 70 101.5 135 55 4
4-M4 depth10
- [ A —
326 Set scrow 112.2::3. 4.(4D) 129.5 17.526,
| ‘\ 4
=3 | | & 2 —
g 4— He—f—————— = —H-— o 4 s
Sl N M J| °F 4
| S o g g ) IS N | I I N
1\ . C-motint o
| \M2Lodkscrew -
|.3-M3 Set screw M2 Lock screw /- C-mount
259.2(0,1)
=y — —
F 3
© 530.0(01) TFL1 _1 1 0
111.1£3. 3(WD) 131 17.526,
TFL05'1 1 OCO M2 Lock screw 45 6.5(4
112,23, 4(D) 129.5 17.626_ p ] |
og &
=
28 t— A —— b —t— et
2| —
=< I 8 -
e o © C-mount
S T T e 7\**",*’* 259.6(0/1)
4 TFL2-110
G-mount
M3 Set sorew, 110,43, 30m) 167 17,526,
78.8 N2 Lock screw 88.5 4
259.2(0/T) 3-M3 Set screw ‘
TFL-110CO I B N B A IS I |-
3 g
111.1=£3. 3(WD) 131 17.526, 3
45 6.5/4 =
42 Lock screw 3-M3 Set screw cg C-mount.
- _ 204.00/) ©
= - =
il 4 I HAD-TFLOTT R[EIE 3t 58
s g T 7 T T ]
| N 58
s j—’ - w i HAD-TFLO11 _—
- <
é "Tg 3022 C-mount
36.5 14
259.6(0/1)
110. 4£3. 3(WD) 167 17.52%,
M2 Lock screw 88.5 4 Jg L
3-M3 Set serew G
o =
4z
a =
g8 Tt —— T
|
L $f§ = = _I
s 58322 % C-mount T QI
36.5 G 14_\ 2-M3 Set screw
294.9(0/1) 3 1/4-20UN
& TFLO11-220 TFLO5-110 TFLO5-110CO TFL1-110 TFL-110CO TFL2-110 TFL2-110CO
HBER 0.11x *5% 0.5x 5% 0.5x *5% 1.0x £5% 1.0x £5% 2.0x *5% 2.0x *5%
055 1" 102.4 x 102.4 mm 22.5 x 22.5 mm 22.5 x22.5 mm 11.3x 11.3 mm 11.3x11.3 mm 5.6 x 5.6 mm 5.6 x 5.6 mm
(\*/w)‘(H) 2/3" 64.5 x 76.4 mm 14.2 x 16.8 mm 14.2 x 16.8 mm 7.1x8.4 mm 7.1 x8.4 mm 3.6 x4.2 mm 3.6 x4.2 mm
1/3" 43.6 x 58.2 mm 9.6 x 12.8 mm 9.6 x 12.8 mm 4.8 x 6.4 mm 4.8 x 6.4 mm 2.4x3.2mm 2.4x3.2mm
WD 222.5 mm 1122 mm 34 112.2mm 34 111.1 mm 3.3 111.1 mm £33 110.4 mm £3.3 110.4 mm £ 3.3
PR E BB O/1 530.0 mm 259.2 mm 259.2 mm 259.6 mm 259.6 mm 294.9 mm 294.9 mm
EHF*REEF 5.6 10.0 10.0 10.5 10.5 10.0 10.0
NA 0.010 0.025 0.025 0.048 0.048 0.100 0.100
2R an 37.0 mm 3.2 mm 3.2 mm 0.8 mm 0.8 mm 0.2 mm 0.2 mm
TVEE (1) 0.01 % -0.02 % -0.02 % 0.02 % 0.02 % 0.02 % 0.02 %
Eyvan I " " " " " "
Gk b — — Built-in - Built-in - Built-in
EEOR — M43 P=0.75 M43 P=0.75 M305 P=05 M30.5 P=05 M 355 P=05 M355 P=05
T2 2460 g 146 g 155 g 1249 128¢g 2359 240g

HOURS

E————
www.hours-web.com



1.1" Telecentric Lens TFL Series

1.1" Telecentric Lens / 345z 117 #8#LE HHE 0 8 3%

=AMEEFEIF0.5x /0.8 / 1.0x /2.0x
- ZRVEREEH—10/ET
« BHEHHKAREER
- AAXE

1 WD : 80mm

TFLO5-80 TFLO5-80CO

TFL (1.1") Series Ki [HIES
F#12MP 1.1" 3.45um tE#l
EEHEERE—10/igit

82.0:£2.5(WD) 200.5 17.526 #2025 00) 208 17,526
86 53.5 61.0 4
86 53.5 61.0 4
V2 Look sorew 3M3 Set sorew W2 Logk |sorew
3-M3 Set screw
2 - 4
B N E - [ — — - —
g o A I | o FR o0 Y | .
B bt
| = o e—; Dg? 5 l/_ 213 Set screw
— o4 e 3 3| ‘ 3=
3 3| 6842
300000 1) 159 AL
300.0(0/1)
82.0+2.5(WD) 200.5 17.526 82.0:£2.5WD) 200.5 17,526
815 4 81.5 4
W2 Look sorew W2 Lock screw
1 L 4 ; N
51 1 +———Af-—— — -
) ISR R I S | | il
— SRR N
— o Ctount. ‘: 3| 343 Set screw,
3| s set sorew vl 585
300.0(0/1) 136.5 14 2-M3 Set screw
300.0(0/1)
80.0=£2. 4 (WD) 202.5 17.526 60,022,441 202.5 17.526
63.0 4
63.0 4 M2 Lock screw
12 Look sorew | 343 Set screw
33 Set sorew 4 E 32 i
— ! | 1 e M
= & | - =
g TT———"—"—" ] T ¥ ] L | ;45+E g N\ eeobunt.
— e ML“: li( : E
o 284"
i 105 b4 2-M3 Set screw
300.0(0/1) 300.0(0/1)
80.0£2.4 (WD) 202.5 17,526 80,042, 4(WD) 202.5 17.526
M2 Lock screw 107.5 4 M2 Lock screw 107.5
3-M3 Set screw 3-M3 Set screw
5 I 1 = ?
I N E— - s s ) | I || [0 S SN 1 A | S— B B N
- 2 ot | _4%_—1:%_ LH z ?Wﬂ
El RN <
e & L $8 §2 =
300.0(0/1) 4.5 914 _[\-#3 Set sorew
300.0(0:1)
M TFLO5-80 TFL05-80CO TFL08-80 TFL08-80CO TFL1-80 TFL1-80CO TFL2-80 TFL2-80CO
FFER 0.5% +5% 0.5x + 5% 0.8x + 5% 0.8x + 5% 1.0x + 5% 1.0x + 5% 2.0x+ 5% 2.0x £ 5%
e 11" 20.6 x 28.2mm 20.6 x 28.2mm 12.9x17.6 mm 12.9x 17.6 mm 10.3x14.1 mm 10.3x 14.1 mm 52x7.1mm 52x7.1mm
(VxH) " 22.5 % 22.5mm 22.5x22.5mm 14.1x 14.1mm 14.4 x 14.4 mm 11.3x11.3mm 11.3x11.3mm 5.6 x 5.6 mm 5.6 x5.6 mm
2/3" 14.2x 16.8 mm 14.2x 16.8 mm 8.9x10.5mm 8.9 x 10.5mm 7.1x84mm 7.1x84mm 3.6x4.2mm 3.6x4.2mm
WD 80.2mm 2.5 80.2mm + 2.5 80.2mm + 2.5 80.2mm + 2.5 80.0mm +2.4 80.0mm +2.4 80.0mm 2.4 80.0mm +2.4
MR iE BEE O/ 300.0mm 300.0mm 300.0mm 300.0mm 300mm 300mm 300mm 300mm
EHFREEF 75 75 75 7.5 75 75 75 75
NA 0.033 0.033 0.053 0.053 0.067 0.067 0.133 0.133
IR S 2.4mm 2.4mm 0.9mm 0.9mm 0.6mm 0.6mm 0.2mm 0.2mm
TVEE (17) 0.01% 0.01% 0.00% 0.00% 0.00% 0.00% 0.04% 0.04%
ped=yiNay 1.1" 1.1" 1.1" 1.1" 1.1" 1.1" 1.1" 1.1"
BE:EL: b — Built-in — Built-in — Built-in — Built-in
EEOE M52 P=0.75 M52 P=0.75 M40.5 P=0.5 M40.5 P=0.5 M37.5 P=0.5 M37.5 P=0.5 M40.5 P=0.5 M40.5 P=0.5
58 370g 3709 360g 360g 3109 3109 380g 380g

HOURS >’

www.hours-web.com



1.1" Telecentric Lens TFL Series

3LA90/1 (Object to Image) BEEIFIGITH—HE

WD:80mm series  0/1:300mm WD:150mm series  0/1:400mm

£
£
S
8
=
S

TFL (1.11Z5, EERARNEER, BREE SNSRI
I WD :150mm

TFLO5-150 TFLO5-150CO

152,024, 6.1) 230.5 12.52 152,04, 6.1D) 0.5 17.5%
10 6.5 135.0 19 76.5 135.0 4
343 Sot screw
— M2 Lock screw
] 5 5 1
i 3 g T
3 £ T 17— "1 " T @
C-HouNT /
i 1 5842
Pl g los §%
g 179.5 £14_|\ 2-M3 Set screw
400.000/1) 400.000/1)
150, 04, 5 D) 2325 17.5% 150. 024, 5D 2.5 12.526
s 10.5]4 ! 315 10.5[4.
M2 Lock screw  3-M3 SET SCREW
M2 Lock screw  3-M3 SET SCREW — |
g - < I &_
B R —-—c—-o—c—c—cto-d—c—LJ1L s odbe—s=
= I g g —
L — = — - —- 4 a4
| Thed s
o t L =
3 55302 w  CowT
2l cotount S
g 155 B 14_| \ 2013 Set screw
400.000/1) 400.00/1)
150,064,500 2125 1526 150, 04, 5 D) 2.5 17.5%
s s s . 1.5 144,5 70,5 4
¥2 Lock
W2 Lok sores ock screw 343 Set sorew
3-W3 Set screw
2| - | ‘é b ¥
o I = 11T R e || !
g = %
o El
| °
Dﬁ = 3 C-MOUNT
= g C-MOUNT 3 ‘ | 5873
g L
© 122.5 $14_|\ 243 Set sorew
400.000°1)
400.000/1)
152. 0:4. 6 (D) 30.5 17.526 152, 0:£4. 6 (WD) 230.5 17.526
45.5 15 110.0 4 455 15 10,0 4
W2 Look sorey 12 Lok scren 343 Set screw
34 Set serew | T
-4 1 - I N
! 3 2 ] S, A e e—dbacdl g —ce——c
3 N g g 1 -
5 T 1 irrr - e A U
4 ?LE = 2 /
E L | — ] les b
. = P 5 g0 g C-HOUNT
= g CHOUNT < [N =l
g 3.8 ©14_\ 23 Set sorew
400.00 1) 400.00/1)

TFLO5-150 TFLO5-150CO TFLO8-150 TFLO8-150CO TFL1-150 TFL1-150CO TFL2-150 TFL2-150CO
SFEER 0.5% +5% 0.5x + 5% 0.8x + 5% 0.8x + 5% 1.0x £ 5% 1.0x+ 5% 2.0x + 5% 2.0x 5%
11" 20.6 x 28.2mm 20.6 x 28.2mm 12.9x17.6 mm 129 x 17.6 mm 10.3x 14.1 mm 10.3x 14.1 mm 5.2x7.1mm 5.2x7.1mm
(VxH) 1" 22.5x22.5mm 22.5x22.5mm 14.1x 14.1 mm 14.1x 14.1 mm 11.3x 11.3mm 11.3x11.3mm 5.6x5.6mm 5.6 x5.6 mm
2/3" 14.2x 16.8 mm 14.2x 16.8 mm 8.9x10.5mm 8.9x10.5mm 7.1x84mm 7.1x8.4mm 3.6x4.2mm 3.6x4.2mm
WD 152.0mm + 4.6 152.0mm + 4.6 150.0mm + 4.5 150.0mm + 4.5 150.0mm + 4.5 150.0mm + 4.5 152.0mm + 4.6 152.0mm + 4.6
MiRis BEE O/ 400.0mm 400.0mm 400.0mm 400.0mm 400.0mm 400.0mm 400.0mm 400.0mm
EHFREEF 75 7.5 75 7.5 7.5 7.5 9.2 9.2
NA 0.033 0.033 0.053 0.053 0.067 0.067 0.109 0.109
BN AUHEEEC004mM 2.4mm 2.4mm 0.9mm 0.9mm 0.6mm 0.6mm 0.2mm 0.2mm
TVEE (1) 0.00% 0.00% 0.00% 0.00% 0.00% 0.00% -0.01% -0.01%
EESH 1.1" 1.1" 1.1" 114" 1.1" 1.1" 1.1" 1.1"
BE:EL:bE — Built-in — Built-in — Built-in — Built-in
EEOE M55 P=0.75 M55 P=0.75 M49 P=0.75 M49 P=0.75 M49 P=0.75 M49 P=0.75 M52 P=0.75 M52 P=0.75
58 5009 5009 4809 4809 400g 4009 600 g 600g

52 HOURS

www.hours-web.com



1.67 um Telecentric Lens,/ s#5i1.67um{goigim sk

TVT Series

1/1.8"

B2 REE1.67umiBHIG T D #ERE S .
EEEREEXRIENRE .

TVTO05-65

TVT05-65CO

65. 72 (WD) 96.0 17. 526 66. 72 (WD) 96.0 17.526
I L 3-M3 Set screw I L 3-M3 Set screw
Ve vy
; ! ; il
5 T . i 3
© w| o E
g e | wdcsoren F Lo N | 5 8 - Legsoren g i
o = 3 2 !
i |
— T [
o
G-mount m| ! |G-mount
o leg
, \ 2-]
179.2(0/1) 56,7 B4 2-M3 Set screw
179.2(0/1)
65. 122 (WD) 96.0 17.526_ 65. 142 (WD) 96.0 17.526_
M2 Lock screw 4 3-M3 Set screw M2 Lock screw 4 3-M3 Set screw
| 23 Set sorew
| | - o) Lo -
o9l o [ °f ¢ [
o [ w4 [
gy 41— o7 g 3 [ RS o —
9 © —[
- & <
\ C-mount = N \ C-mount
-~ 98]
178.6(0/1 -}
/D a4 614 | \2M3 Set sorew
178.6(0/1)
66. 02 (WD) 107.0 17. 526, ™vT ’%;ﬁu
M2 _Lock screw _. |4 4 5
o [ | 3-M3 Set screw 2 —_— III . n=
o i r = —1
© 3 —
A IR R E—— =N
— =
4 4= "l n=v
— s=m ="
190.5(0, 1) _ - 2 5X
- - - L
= EUFRIXILL!
o —fa— 3 * EEC TR R
TVT1-65CO RBTOEL Erieacd
66. 02 (WD) 107.0 17.526 Nl
M2 _Lock screw |4
= 3-M3 Set screw b
b » —
71 i =i
gd +——d— 1Al =
N =i
|
2 \C-mount
8
28 \ 2-H3 Set screw
48.7 o114
190.5(0/1)
& TVT05-65 TVT05-65CO TVT08-65 TVT08-65CO TVT1-65 TVT1-65CO
Sz 0.5x £5% 0.5x £5% 0.8x £5% 0.8x £5% 1.0x £5% 1.0x £5%
0 " 14.2 x 16.8 mm 14.2 x 16.8 mm 8.9 x10.5 mm 8.9x10.5 mm 7.1 x 8.4 mm 7.1 x 8.4 mm
(ng) 1/2” 9.6 x 12.8 mm 9.6 x 12.8 mm 6.0 x 8.0 mm 6.0 x 8.0 mm 4.8x 6.4 mm 4.8 x 6.4 mm
x 1/3" 7.2x9.6 mm 7.2 x9.6 mm 4.5 x 6.0 mm 4.5 x 6.0 mm 3.6 x 4.8 mm 3.6 x 4.8 mm
WD 65.7 mm *2 65.7 mm *2 65.1 mm *2 65.1 mm +2 66.0 mm *+2 66.0 mm 2
PIRIEEES O/ 179.2 mm 179.2 mm 178.6 mm 178.6 mm 190.5 mm 190.5 mm
SEMF BT 4.5 4.5 4.5 4.5 4.5 4.5
NA 0.056 0.056 0.089 0.089 0.111 0.111
SR AMHEEEC004mm 1.4 mm 1.4 mm 0.6 mm 0.6 mm 0.4 mm 0.4 mm
TVE (2/3") 0.00% 0.00% 0.00 % 0.00 % 0.00 % 0.00 %
FEETH 2/3" 2/3" 2/3" 2/3" 2/3" 2/3"
EERES — Built-in — Built-in — Built-in
EEOE M355 P=05 M355 P=05 M34 P=05 M34 P=05 M34 P=05 M34 P=05
a2 205 g 205 g 200 g 200 g 2159 215g

HOURS >3

www.hours-web.com




